ALGEBRA I EXAM 3.2 Part II
[image: image1.png]1. A farmer plans to build fences around three rectangular fields.
Field 1

The farmer will use 500 feet of fencing material for field 1. The function f(x)

represents the area, in square feet, of field 1, and x represents the width, in feet,
of field 1.

Field 2
The farmer will enclose an area of 17,600 square feet for field 2. He uses the
equation w(300 — w) = 17,600 to determine w, the width, in feet, of field 2.

Field 3

The function g(z) = 400z — z? can be used to determine the area, in square feet,
of field 3. In the function, z represents the width, in feet, of field 3.

Part A

If the farmer builds the fence for field 1 in the shape of a square, what is its area,
in square feet?

PartB
Which function describes the area, in square feet, of field 1?
A. f(x) = x(250 — x)

B. f(x) = x(250 — 2x)
C. f(x) = x(500 — x)

D. f(x) = x(500 — 2x)

PartC
How many feet of fencing does the farmer need to enclose field 2?



[image: image2.png]Part D

The farmer correctly rewrites the equation he uses for field 2 in terms of w, its
width.

Which could be the new equation?
M. (w — 150)2 = 4,010

P. (w - 150)2 = 4,900
R. (w - 300)* = 17,600
S. (w — 300)2 = 40,100




[image: image3.png]PartE

The farmer will plant spinach in field 3, and he expects a yield of one pound of
spinach per square foot.

If the width of field 3 is 50 feet, how many pounds of spinach does the farmer
expect?




[image: image4.png]PartF

Which statement correctly interprets the graph of g(z)?
A. The maximum width of field 3 is 200 feet.

B. The maximum width of field 3 is 40,000 feet.
€. The maximum area of field 3 is 400 square feet.

D. The maximum area of field 3 is 40,000 square feet.




[image: image5.png]2. Solve the following equations for . Show your method and work. If no solution is possible, explain how
you know.

a. r?+12r+18=7 b. r2+2r—3=4 c r2+18r+73=-9




[image: image6.png]3. Sketch the graph f(x) = x* + 4x




4.
Using 1930 as year zero, write a function to model the data in the table below:

[image: image7.png]The table gives the death rates (deaths per 100,000 males in US) due to lung
cancer from 1930 through 1990:

year 1930 | 1940 | 1950 | 1960 | 1970 | 1980 | 1990
deaths per 100,000 5 11 21 39 59 66 67






5.
Classify the following polynomial:
5x6y3





(1 point)

6.
Simplify   (2x – 8y4)2








(2 points)
Factor the expressions in questions 7-10.

7.
k2 + kf – 2f2










8.
6g3 + 8g2 – 15g – 20










9.
4x2 – 81y2


10.
32x3 – 24x2 – 8x













(8 points)
Solve the quadratics in questions 11-14

11.
w2 – 12w + 36 = 0


12.
3r2+ 3r – 6 = 0


13.
c2 – 10c = 0


14.
6x2 – 17x + 13 = 20x2 – 32 













(8 points)

15.
The area of a rectangular playground is 336 yd2. The width of the playground is 5 yds longer than its length. Find the length and width of the playground.


          

(3 points)


16.
Tasha is planning an expansion of a square flower garden in a city park. If each side of the original garden 
is increased by 7 m, the new total area of the garden will be 144 m2. Find the length of each side of the original garden.



        





(3 points)


17.
A ball is thrown into the air with an upward velocity of 48 ft/s. Its height h in feet after t seconds is given by the function [image: image8.png]—168% + 48t + 6




. How long does it take the ball to hit the ground?  Round to the nearest hundredth, if necessary.








(3 points)
____
18.
Solve [image: image9.png](x-2)(x+T)=10




	A.
	2,[image: image10.emf]7


	C.
	–1,1

	B.
	2, [image: image11.emf]7


	D.
	–2, [image: image12.emf]7




____
19.
Solve [image: image13.png]



	A.
	0, [image: image14.emf]1


	C.
	[image: image15.emf]

1

8

, [image: image16.emf]1



	B.
	[image: image17.emf]

1

8

, [image: image18.emf]1


	D.
	0, [image: image19.emf]1




____
20.
Solve [image: image20.png]15 = 8x% — 14x




	A.
	[image: image21.png]



	B.
	[image: image22.png]



	C.
	[image: image23.png]



	D.
	[image: image24.png]


  (1 pt each)


